

Relations between two kinds of derivatives on analytic functions II

Grigore Ştefan Sălăgean and Teruo Yguchi

Abstract. We consider Ruscheweyh derivative $D^n f(z)$ and Sălăgean derivative $d^n f(z)$, for $n \in \{0, 1, 2, \dots\}$, on a class

$$\mathcal{T} = \left\{ f : f(z) = z - \sum_{n=2}^{\infty} a_n z^n \text{ (} a_n \geq 0, n = 2, 3, \dots \text{) is analytic in } |z| < 1 \right\}.$$

On this paper we study relations between two subclasses $\mathcal{TR}(n, m; \alpha)$ and $\mathcal{TS}(n, m; \beta)$ of \mathcal{T} , where $\mathcal{TR}(n, m; \alpha) = \left\{ f \in \mathcal{T} : \operatorname{Re} \frac{D^{n+m} f(z)}{D^n f(z)} > \alpha, |z| < 1 \right\}$ and $\mathcal{TS}(n, m; \beta) = \left\{ f \in \mathcal{T} : \operatorname{Re} \frac{d^{n+m} f(z)}{d^n f(z)} > \beta, |z| < 1 \right\}$ for $\alpha \in [0, 1)$, $\beta \in [0, 1)$, $n = 0, 1, 2, \dots$ and $m = 1, 2, \dots$

Mathematics Subject Classification (2010): 30C45.

Keywords: analytic functions, starlike functions, Ruscheweyh derivative, Sălăgean derivative.

1. Introduction

We consider a class of functions $f(z)$ defined by

$$f(z) = z + \sum_{n=2}^{\infty} a_n z^n \tag{1.1}$$

analytic in the unit open disk $|z| < 1$, and we denote by \mathcal{A} the class of such functions. We also denote by \mathcal{T} a subclass of the class \mathcal{A} satisfying

$$f(z) = z - \sum_{n=2}^{\infty} a_n z^n \quad (a_n \geq 0, n \in \mathcal{N}_2 = \mathcal{N} - \{1\}), \tag{1.2}$$

where \mathcal{N} is the set of positive integers. For any $\beta \in [0, 1) = \{x : 0 \leq x < 1\}$ a function $f(z)$, which is in the class \mathcal{A} and satisfies $\operatorname{Re} \left\{ \frac{z f'(z)}{f(z)} \right\} > \beta$ in $|z| < 1$, is called starlike

of order β and we denote by $\mathcal{S}^*(\beta)$ the class of such functions. We denote by \mathcal{S}^* the class $\mathcal{S}^*(0)$.

We also consider two kinds of derivatives, namely Ruscheweyh derivative ([1]) D^n and Sălăgean derivative ([2]) d^n for $n \in \mathcal{N}_0 = \mathcal{N} \cup \{0\}$ by

$$D^0 f(z) = f(z), \quad D^1 f(z) = Df(z) = z f'(z), \quad D^n f(z) = \frac{z(z^{n-1} f(z))^{(n)}}{n!} \quad (n \in \mathcal{N}_2)$$

and

$$d^0 f(z) = f(z), \quad d^1 f(z) = df(z) = z f'(z), \quad d^n f(z) = d(d^{n-1} f(z)) \quad (n \in \mathcal{N}_2),$$

respectively.

For $n \in \mathcal{N}_0, m \in \mathcal{N}$ and $\beta \in [0, 1)$, Sekine([4]) introduced the following class

$$\mathcal{S}(n, m; \beta) = \left\{ f \in \mathcal{A} : \operatorname{Re} \frac{d^{n+m} f(z)}{d^n f(z)} > \beta, |z| < 1 \right\} \tag{1.3}$$

as a subclass of the class \mathcal{A} . For $n \in \mathcal{N}_0, m \in \mathcal{N}$ and $\alpha \in [0, 1)$, we([3]) introduced the following class

$$\mathcal{R}(n, m; \alpha) = \left\{ f \in \mathcal{A} : \operatorname{Re} \frac{D^{n+m} f(z)}{D^n f(z)} = \operatorname{Re} \frac{n!(z^{n+m-1} f(z))^{(n+m)}}{(n+m)!(z^{n-1} f(z))^{(n)}} > \alpha, |z| < 1 \right\} \tag{1.4}$$

as another subclass of the class \mathcal{A} . We express $\mathcal{R}(n, 1; \frac{1}{2})$, $\mathcal{S}(n, 1; 0)$ and $\mathcal{S}(n, m; 0)$ as $\mathcal{R}(n)$ ([1]), $\mathcal{S}(n)$ ([2]) and $\mathcal{S}(n, m)$, respectively. Next let $\mathcal{TR}(n, m; \alpha)$, $\mathcal{TS}(n, m; \beta)$, $\mathcal{TR}(n, m)$ and $\mathcal{TS}(n, m)$ denote the classes $\mathcal{T} \cap \mathcal{R}(n, m; \alpha)$, $\mathcal{T} \cap \mathcal{S}(n, m; \beta)$, $\mathcal{T} \cap \mathcal{R}(n, m)$ and $\mathcal{T} \cap \mathcal{S}(n, m)$, respectively.

In the papers ([6], [5]), we researched a relation among subclasses $\mathcal{TR}(n, m; \alpha)$ and $\mathcal{TS}(n, m; \beta)$, respectively. In this paper, we will discuss a relation among subclasses mixed with $\mathcal{TR}(n, m; \alpha)$ and $\mathcal{TS}(n, m; \beta)$.

2. Preliminaries

2.1. Fundamental results

In this subsection, we show some useful fundamental results to prove our main theorem.

Theorem 2.1. ([1]) *The relation $\mathcal{R}(n+1) \subset \mathcal{R}(n) \subset \mathcal{S}^*$ holds for all $n \in \mathcal{N}_0$.*

Theorem 2.2. ([2]) *The relation $\mathcal{S}(n+1) \subset \mathcal{S}(n) \subset \mathcal{S}^*$ holds for all $n \in \mathcal{N}_0$.*

Theorem 2.3. ([4]) *If $\sum_{k=2}^{\infty} \frac{k^n(k^m - \beta)}{1 - \beta} |a_k| \leq 1$ for $n \in \mathcal{N}_0, m \in \mathcal{N}, \beta \in [0, 1)$ and $f \in \mathcal{A}$, then $f \in \mathcal{S}(n, m; \beta)$.*

Theorem 2.4. ([4]) *For $n \in \mathcal{N}_0, m \in \mathcal{N}, \beta \in [0, 1)$ and $f \in \mathcal{T}$, we have that*

$$f \in \mathcal{TS}(n, m; \beta) \iff \sum_{k=2}^{\infty} \frac{k^n(k^m - \beta)}{1 - \beta} a_k \leq 1. \tag{2.1}$$

The following theorem is a result to indicate a sufficient condition for $f \in \mathcal{R}(n, m; \alpha)$.

Theorem 2.5. ([5]) *If for $n \in \mathcal{N}_0$, $m \in \mathcal{N}$, $\alpha \in [0, 1)$ and $f \in \mathcal{A}$,*

$$\sum_{k=2}^{\infty} \frac{\binom{n+m+k-1}{k-1} - \alpha \binom{n+k-1}{k-1}}{1-\alpha} |a_k| \leq 1,$$

where $\binom{a}{0} = 1$ for $a \in \mathcal{N}$ and $\binom{a}{b} = \frac{a(a-1) \times \dots \times (a-b+1)}{b!}$ for $a, b \in \mathcal{N}$ and $a \geq b$, then $f \in \mathcal{R}(n, m; \alpha)$.

The following theorem is a useful result to indicate a necessary and sufficient condition for $f \in \mathcal{TR}(n, m; \alpha)$.

Theorem 2.6. ([5]) *For $n \in \mathcal{N}_0$, $m \in \mathcal{N}$, $\alpha \in [0, 1)$ and $f \in \mathcal{T}$, we have that*

$$f \in \mathcal{TR}(n, m; \alpha) \iff \sum_{k=2}^{\infty} \frac{\binom{n+m+k-1}{k-1} - \alpha \binom{n+k-1}{k-1}}{1-\alpha} a_k \leq 1. \quad (2.2)$$

We obtain the following corollary of Theorem (2.5) replacing m by 1.

Corollary 2.7. ([5]) *If $\sum_{k=2}^{\infty} \frac{\binom{n+k}{k-1} - \alpha \binom{n+k-1}{k-1}}{1-\alpha} |a_k| \leq 1$ for $n \in \mathcal{N}_0$ and $f \in \mathcal{A}$, then $f \in \mathcal{R}(n, 1; \alpha)$.*

We obtain the following corollary of Theorem (2.6) replacing m by 1.

Corollary 2.8. ([5]) *For $n \in \mathcal{N}_0$ and $f \in \mathcal{T}$, we have that*

$$f \in \mathcal{TR}(n, 1; \alpha) \iff \sum_{k=2}^{\infty} \frac{\binom{n+k}{k-1} - \alpha \binom{n+k-1}{k-1}}{1-\alpha} a_k \leq 1.$$

2.2. Examples

Before proving our theorem, we present two examples. Their proof can be found in [3].

Example 2.9. The following relations hold true for $m \in \mathcal{N}_2$ and $0 \leq \beta < 1$:

- (a) $\mathcal{TR}(0, m; \alpha) \subsetneq \mathcal{TS}(0, m; \beta)$ for $1 - \frac{1-\beta}{m!} \leq \alpha < 1$,
- (b) $\mathcal{TS}(0, m; \beta) \subsetneq \mathcal{TR}(0, m; \alpha)$ for $0 \leq \alpha < 1 - \frac{m}{2^m-1}(1-\beta)$,
- (c) $\mathcal{TR}(0, m; \alpha) \not\subset \mathcal{TS}(0, m; \beta)$ for $1 - \frac{m}{2^m-1}(1-\beta) < \alpha < 1 - \frac{1-\beta}{m!}$
and
- (d) $\mathcal{TS}(0, m; \beta) \not\subset \mathcal{TR}(0, m; \alpha)$ for $1 - \frac{m}{2^m-1}(1-\beta) < \alpha < 1 - \frac{1-\beta}{m!}$.

Example 2.10. The following relations hold true for $m \in \mathcal{N}_2$ and $0 \leq \beta < 1$:

- (a) $\mathcal{TR}(1, m; \alpha) \subsetneq \mathcal{TS}(1, m; \beta)$ for $1 - \frac{1-\beta}{(m+1)!} \leq \alpha < 1$,
- (b) $\mathcal{TS}(1, m; \beta) \not\subset \mathcal{TR}(1, m; \alpha)$ and $\mathcal{TR}(1, m; \alpha) \not\subset \mathcal{TS}(1, m; \beta)$
for $1 - \frac{m}{2(2^m-1)}(1-\beta) < \alpha < 1 - \frac{(1-\beta)}{(m+1)!}$

and

$$(c) \quad \mathcal{TS}(1, m; \beta) \subsetneq \mathcal{TR}(1, m; \alpha) \text{ for } 0 \leq \alpha \leq 1 - \frac{m}{2(2^m-1)}(1 - \beta).$$

3. Main result

Theorem 3.1. *The following relation holds true for $n \in \mathcal{N}_0$, $m \in \mathcal{N}_2$ and $0 \leq \beta < 1$:*

$$\mathcal{TR}(n, m; \alpha) \subsetneq \mathcal{TS}(n, m; \beta) \text{ for } 1 - \frac{1 - \beta}{(m+n)!} \leq \alpha < 1.$$

Proof. In order to prove that $\mathcal{TR}(n, m; \alpha) \subsetneq \mathcal{TS}(n, m; \beta)$ for $1 - \frac{1-\beta}{(m+n)!} \leq \alpha < 1$, $n \in \mathcal{N}_0$, $m \in \mathcal{N}_2$, $\beta \in [0, 1)$, we have to prove that $G(\alpha, \beta; k, n, m) \leq 0$, where

$$G(\alpha, \beta; k, n, m) = (1 - \alpha)k^{n+m} - \frac{1 - \beta}{(n + m)!} \prod_{l=0}^{n+m-1} (k + l) - \beta(1 - \alpha)k^n + \frac{\alpha(1 - \beta)}{n!} \prod_{l=0}^{n-1} (k + l),$$

for $k, m \in \mathcal{N}_2$, $n \in \mathcal{N}_0$, $1 - \frac{1-\beta}{(m+n)!} \leq \alpha < 1$, $\beta \in [0, 1)$. We show that $G(\alpha, \beta; k, n, m)$ is a decreasing function of α for all β, k, n, m (with the conditions in the Theorem) and that

$$G(1 - \frac{1 - \beta}{(n + m)!}, \beta; k, n, m) \leq 0. \tag{3.1}$$

We have

$$\frac{\partial}{\partial \alpha} G(\alpha, \beta; k, n, m) = -k^{n+m} + \beta k^n + \frac{1 - \beta}{n!} \prod_{l=0}^{n-1} (k + l) = H(n, m; \beta);$$

and we will prove that

$$\frac{\partial}{\partial \beta} H(n, m; \beta) = k^n - \frac{1}{n!} \prod_{l=0}^{n-1} (k + l) \geq 0, \quad n \in \mathcal{N},$$

or equivalently, that

$$n!k^n - \prod_{l=0}^{n-1} (k + l) \geq 0, \tag{3.2}$$

by the mathematical induction.

Case $n = 1$. $\frac{\partial}{\partial \beta} H(1, m; \beta) = k - k = 0$;

Suppose that (3.2) holds true.

Case $(n + 1)$. We have

$$(n + 1)!k^{n+1} = (n + 1)k\{n!k^n\} > (n + 1)k \prod_{l=0}^{n-1} (k + l) > \prod_{l=0}^n (k + l)$$

because $(n + 1)k > k + n$.

From $\frac{\partial}{\partial \beta} H(n, m; \beta) \geq 0$ we have that

$$H(n, m; \beta) \leq H(n, m; 1) = -k^{n+m} + k^n < 0$$

for all $n \in \mathcal{N}_0$, $\beta \in [0, 1)$. From $\frac{\partial}{\partial \alpha} G(\alpha, \beta; k, n, m) = H(n, m; \beta) < 0$ we deduce that $G(\alpha, \beta; k, n, m)$ is a decreasing function of α ; then

$$G(\alpha, \beta; k, n, m) \leq G\left(1 - \frac{1 - \beta}{(n + m)!}, \beta; k, n, m\right) \tag{3.3}$$

Now we have to show that (3.1) holds. We can write

$$G\left(1 - \frac{1 - \beta}{(n + m)!}, \beta; k, n, m\right) = \frac{1 - \beta}{(n + m)!} L(\beta; k; n, m), \tag{3.4}$$

where

$$L(\beta; k; n, m) = k^{n+m} - \prod_{l=0}^{n+m-1} (k+l) + \beta k^n + \frac{(n+m)!}{n!} \prod_{l=0}^{n-1} (k+l) - \frac{1-\beta}{n!} \prod_{l=0}^{n-1} (k+l).$$

But

$$\frac{\partial}{\partial \beta} L(\beta; k; n, m) = k^n + \frac{1}{n!} \prod_{l=0}^{n-1} (k+l) > 0,$$

hence

$$L(\beta; k; n, m) \leq L(1; k; n, m). \tag{3.5}$$

Now we prove that $L(1; k; n, m) \leq 0$ by mathematical induction with respect to n . We have

$$L(1; k; 1, m) = k^{1+m} - k(k+1) \times \dots \times (k+m) + k + (1+m)!k = k\phi(k),$$

where the function

$$\phi(x) = x^m - (x+1) \times \dots \times (x+m) + 1 + (1+m)! \text{ for } x \geq 2$$

is increasing, because

$$\phi'(x) = mx^{m-1} - (x+1) \times \dots \times (x+m) \sum_{s=1}^m \frac{1}{x+s} < 0.$$

Since

$$\phi(x) \leq \phi(2) = 2^m - 3 \times \dots \times (m+2) + (m+1)! + 1 = 2^m - \frac{(m+1)!m}{2} + 1 < 0,$$

for $m \geq 2$, we obtain that $L(1; k; 1, m) < 0$ for $m, k \geq 2$.

Now we suppose that $L(1; k; n, m) < 0$, that is

$$k^{n+m} + k^n < \prod_{l=0}^{n+m-1} (k+l) - \frac{(n+m)!}{n!} \prod_{l=0}^{n-1} (k+l) \tag{3.6}$$

We have (the case $(n+1)$)

$$k^{n+1+m} + k^{n+1} = k(k^{n+m} + k^n) < k \left[\prod_{l=0}^{n+m-1} (k+l) - \frac{(n+m)!}{n!} \prod_{l=0}^{n-1} (k+l) \right], \tag{3.7}$$

where we used (3.6). The following inequalities

$$\begin{aligned}
 k \left[\prod_{l=0}^{n+m-1} (k+l) - \frac{(n+m)!}{n!} \prod_{l=0}^{n-1} (k+l) \right] &< \prod_{l=0}^{n+m} (k+l) - \frac{(n+m+1)!}{(n+1)!} \prod_{l=0}^n (k+l), \\
 k \prod_{l=0}^{n-1} (k+l) \left[\prod_{l=n}^{n+m-1} (k+l) - \frac{(n+m)!}{n!} \right] &< \\
 &(k+n) \prod_{l=0}^{n-1} (k+l) \left[\prod_{l=n}^{n+m} (k+l) - \frac{(n+m+1)!}{n!} \right], \\
 k \left[\prod_{l=n}^{n+m-1} (k+l) - \frac{(n+m)!}{n!} \right] &< (k+n) \left[\prod_{l=n}^{n+m} (k+l) - \frac{(n+m+1)!}{n!} \right], \\
 k(k+n) \times \dots \times (k+n+m-1) - k(n+1) \times \dots \times (n+m) &< \\
 (k+n)(k+n+1) \times \dots \times (k+n+m) - (k+n)(n+2) \times \dots \times (n+m+1)
 \end{aligned}$$

and

$$\begin{aligned}
 (k+n) \times \dots \times (k+n+m-1)[k - (k+n+m)] - \\
 (n+2) \times \dots \times (n+m)[k(n+1) - (k+n)(n+m+1)] < 0
 \end{aligned} \tag{3.8}$$

are equivalent to (3.7). We denote

$$\begin{aligned}
 M(k, m, n) = - (k+n) \times \dots \times (k+n+m-1)(n+m) - \\
 (n+2) \times \dots \times (n+m)[k(n+1) - (k+n)(n+m+1)].
 \end{aligned} \tag{3.9}$$

Since $k \geq 2$ we deduce

$$\begin{aligned}
 M(k, m, n) &\leq -(2+n) \times \dots \times (2+n+m-2)(k+n+m-1)(n+m) + (n+2) \times \\
 &\dots \times (n+m)[n^2 + n + nm + km] \\
 &= (n+2) \times \dots \times (n+m)[-(k+n+m-1)(n+m) + (n^2 + n + nm + km)] \\
 &= (n+2) \times \dots \times (n+m)[(2-k)n + m(1-n) - m^2] < 0.
 \end{aligned}$$

From $M(k, m, n) < 0$, notation (3.9) and the equivalence of the inequalities between (3.7) and (3.8), we obtain that (3.6) holds and this means that

$$L(1; k; n, m) \leq 0. \tag{3.10}$$

Combining (3.10), (3.5), (3.4) and (3.3) we complete the proof. □

References

- [1] Ruscheweyh, S., *New criteria for univalent functions*, Proc. Amer. Math. Soc., **49**(1975), 109-115.
- [2] Sălăgean, G.S., *Subclasses of univalent functions*, Lecture Notes in Math., 1013 Springer Verlag, 1983, 362-372.
- [3] Sălăgean, G.S., Yaguchi, T., *Relations between two kinds of derivatives on analytic functions*, Proc. Nat. Sci. Nihon Univ., **46**(2011), 333-341.
- [4] Sekine, T., *Generalization of certain subclasses of analytic functions*, Internat. J. Math. and Math. Sci., **10**(1987), 725-732.

- [5] Yaguchi, T., *A relation among subclasses defined by Ruscheweyh derivative on analytic functions with negative coefficients*, J. Approximation Theory and Applications, **1**(2005), 29-35.
- [6] Yaguchi, T., Yamakawa, R., *A sequence of inclusion relations in certain classes of analytic functions with negative coefficients*, Math. Japon., **37**(1992), no. 5, 947-954.

Grigore Ștefan Sălăgean
“Babeș-Bolyai” University
Faculty of Mathematics and Computer Sciences
1, Kogălniceanu Street
400084 Cluj-Napoca, Romania
e-mail: salagean@math.ubbcluj.ro

Teruo Yguchi
Nihon University
Department of Computer Science and System Analysis
College of Humanities and Sciences
3-25-40, Sakurajosui, Setagaya, Tokyo 156-8550, Japan
e-mail: yaguchi@cssa.chs.nihon-u.ac.jp